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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
- weifl @es e mie ¢

a)  Mention the principle of extensionality for sets

with exmple.
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b) Is the following statement true?
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Let A={x,y,z}. How many subsets does A contain

and what are they?

13 AT, A={x,y,z} A AT Fol T =@
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What do you mean by A(JB?
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Express the following sentences into set
notation:
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1)  The apostles are twelve.
{2 D= |

i1)  Apostles are all wise.
EBIPN FR Telell

Let A and B be sets such that AN~B=A.
Represent this situation by a Venn diagram.

{39, A8 B2s @ 16 (& @A AN~B=A
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What do you mean by A(\B?
ANB 00 H Q=2

What is meant by Predicables?
fae <etee 6 @i e
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k)
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Give an example of logical definition.

(e F<eels Gt Thizsd 716 |
What is meant by Division by Dichotomy?

faios [Reie Fere fF @R e

Test the following division :

fafeife Rerem & 54 ¢

Plants into stem, root and branches.
NG T, 6T '8 * -GS Kee = |
Test the following definition.
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A poet is an apostle of sweetness and light.
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Distinguish between denotation and connotation
of a term.
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2. Answer any four questions: 5%x4=20
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What is wrong with the following argument?

o 0

frsfeie gfelee & aife ek

Tomcats are cats. Cats are a species. Therefore,

tomcats are species.
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b)

d)
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Are the following assumptions mutually
consistent? (by Venn dirgram)

IS T [ o (o braa A=y
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BNC=~x

(ANC)~B=n

(ANB)~C=n
(ANB)U(ANC)U(BNC) = A

What are the domain, counter domain and field

of the relation of being a mother?
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Distinguish with examples between (i) Abstract
and Concrete Terms, (ii) Positive, Negative and

Privative Terms.
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1)  How many predicables are recognised by

Aristotle and what are they?
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3.  Answer any two questions:

To which of the Predicables does each of
the following predicates belong :
s R @ e Teve ?
i) A triangle is three sided.
fage 7 fom T3 |

i1) Swami Vivekananda was born in
Kolkata.
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When a diagram is inconsistent? Explain with
Venn diagram.
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Test the validity of the following arguments by
Venn diagram.
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All witnesses are prejudiced.
Some witnesses are not liars.

~. Some liars are not prejudiced.
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ii)

~Ac~(BNCO)
Cc~A

Bc AU~C
~~(BUC)c~ A

Let A={L2{1}}

@, A={1,2{1}}

i)

iii)

Give an example of a binary relation which
is reflexive and transitive, but not

symmetric in A.
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Give an example of a binary relation which
is reflexive and symmetric, but not

transitive in A.
"afes A9 G O30 Tnigge wie Tt A
(AT TRES QR AN, [5G AT 737 |

Give an example of a binary relation which
is reflexive, but neither symmetric nor

transitive in A.
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1v)  Give an example of a binary relation which
is neither reflexive, symmetric, nor

transitive in A.
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What is Logical Definition? Explain with
examples, the rules of Logical Definition,
indicating the fallacies which arise from their

violation.
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Explain and illustrate the rules of Logical
Division.
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